Y
J—— g@d\bu\"& @,}%W\&bco B -
4

A —
1’1-«’: L©} %fm“/d&;c AE)C 4 CDE

500 tﬂanjuv@p/( ‘\ec“l""‘a“l"’l on

Im
Bo Le; C AT_C, )Q)/\M\QTQAJ
: @Ortcud‘o sz lewemp le
S ANETNS I'¥ 0% e
en - o )z —
/9 /12 / 99 255

Z& /'vojzunc/m/ac! del 7702—0 1% & 255m.

2+
—_— KQ} 5~7L/ 046/7/0%475\ ron -

& g a/ C‘/Pertmtfo? P:@,('b—(—(/
amﬁl.h>¢
L Al
o o 12 =2 F.X S )(;_//:/gcm

Teafémd C//(’ &‘ a/((-u g
Ey\fancy/ Ga A(/’)ofe/\%}ﬁ/ b': q+/é :Z;CVV'\

e dof C@{‘e{_b == C,Z: 7,25 - C= 9.25 = A 5em

X 5‘/2: /é,jj’-—, ﬂ:W:Z@CM

or dants, P - St = 6O
Por fants, P - a0+ 25447 = €01

T@r '3



